

COVARIANT DERIVATIVE OF CERTAIN STRUCTURES IN TANGENT BUNDLE

MOHAMMAD NAZRUL ISLAM KHAN* AND JAE-BOK JUN**

ABSTRACT. Our aim is to study covariant derivative with respect to complete and vertical lifts of generalized almost r -contact structure in tangent bundle.

1. Introduction

The differential geometry of tangent bundles has valuable vicinity in the differential geometry because it provides numerous innovative problems in the study of modern differential geometry. Numerous investigators made valuable contributions on differential geometry of tangent bundles including Davies [4], Yano and Ishihara [13], Yano and Davies [14], Innus and Udriste [5]. The complete, vertical and horizontal lifts of tensor fields and connections on any manifold M to tangent manifold TM has been studied by Yano and Ishihara [15]. Furthermore, Das and the author [1] have obtained almost product structure by means of the complete, vertical and horizontal lifts of almost r -contact structures on tangent bundles. The author [6, 7] has studied lifts of hypersurface with connections to tangent bundles and Kaehler manifold. Tekkoyun [11] produced almost para-complex structures on tangent bundle by using lifting theory.

The rest of the paper is organized as follows: In Section 2, we define tangent bundle, complete, vertical lifts, Hsu-structure and generalized almost r -contact structure. We have considered the generalized almost r -contact structure in manifold and then defined Hsu-structure in tangent bundle in Section 3. In Section 4, we prove theorems on covariant derivative of generalized almost r -contact structure in tangent bundle.

Received June 07, 2017; Accepted August 28, 2017.

2010 Mathematics Subject Classification: 53D15, 58A30.

Key words and phrases: tangent bundle, vertical lift, complete lift, generalized almost r -contact structure, covariant derivative.

Correspondence should be addressed to Jae-Bok Jun, jbjun@kookmin.ac.kr.

2. Preliminaries

Let M be an n -dimensional differentiable manifold and let $T(M) = \bigcup_{p \in M} T_p(M)$ be its tangent bundle. Then $T(M)$ is also a differentiable manifold. Let $X = \sum_{i=1}^n (\partial/\partial x^i)$ and $\eta = \sum_{i=1}^n \eta^i dx^i$ be the expressions in local coordinates for the vector field X and the 1-form η in M . Let (x^i, y^i) be local coordinates of point in $T(M)$ induced naturally from the coordinate chart (U, x^i) in M [15].

2.1. Vertical lifts

If f is a function in M , we write f^V for the function in $T(M)$ obtained by forming the composition of $\pi : T(M) \rightarrow M$ and $f : M \rightarrow R$, so that

$$(2.1) \quad f^V = f \circ \pi.$$

Thus, if a point $\tilde{p} \in \pi^{-1}(U)$ has induced coordinates (x^h, y^h) , then

$$(2.2) \quad f^V(\tilde{p}) = f^V(x, y) = f \circ \pi(\tilde{p}) = f(p) = f(x).$$

Thus the value of $f^V(\tilde{p})$ is constant along each fibre $T_p(M)$ and equal to the value $f(p)$. We call f^V the vertical lift of the function f .

Furthermore, the vertical lifts of tensor fields obey the general properties [5, 10, 15]:

- (a) $(f \cdot g)^V = f^V g^V, (f + g)^V = f^V + g^V,$
- (b) $(X + Y)^V = X^V + Y^V, (f \cdot X)^V = f^V X^V, X^V f^V = 0,$
 $[X^V, Y^V] = 0,$
- (c) $(f \cdot \eta)^V = f^V \eta^V, \eta^V(X^V) = 0, X^V(Y^V) = 0,$
 for arbitrary $f, g \in \mathfrak{S}_0^0(M), X, Y \in \mathfrak{S}_0^1(M), \eta \in \mathfrak{S}_1^0(M),$
 $F \in \mathfrak{S}_1^1(M).$

2.2. Complete lifts

If f is a function in M , we write f^C for the function in $T(M)$ defined by [15]

$$(2.3) \quad f^C = i(df)$$

and call f^C the *complete lift* of the function f . The complete lift of a function f has the local expression

$$(2.4) \quad f^C = y^i \partial_i f = \partial f$$

with respect to the induced coordinates in $T(M)$, where ∂f denotes $y^i \partial_i f$.

Suppose that $X \in \mathfrak{S}_0^1(M)$, that is X is a vector field in M . We define a vector field X^C in $T(M)$ by

$$(2.5) \quad X^C f^C = (Xf)^C,$$

where f is an arbitrary function in M and call X^C the complete lift of X in $T(M)$. The complete lift X^C of X with components x^h in M has components

$$(2.6) \quad X^C : \begin{bmatrix} x^h \\ \partial x^h \end{bmatrix}$$

with respect to the induced coordinates in $T(M)$.

Suppose that $\eta \in \mathfrak{S}_1^0(M)$, that is η is a 1-form in M . Then a 1-form η^C in $T(M)$ defined by

$$(2.7) \quad \eta^C(X^C) = (\eta(X))^C,$$

where X is an arbitrary vector field in M . We call η^C the complete lift of η .

Moreover, the complete lifts of tensor fields obey the general properties [9, 15]:

- (a) $(fX)^C = f^C X^V + f^V X^C = (Xf)^C, X^C f^V = (Xf)^V,$
 $V^V f^C = (Xf)^V,$
- (b) $\phi^V X^C = (\phi X)^V, \phi^C X^V = (\phi X)^V, (\phi X)^C = \phi^C X^C;$
 $\eta^V(X^C) = (\eta(X))^C, \eta^C(X^V) = (\eta(X))^V,$
- (c) $[X^V, Y^C] = [X, Y]^C, [X^C, Y^C] = [X, Y]^C;$
 $I^C = 1, I^V X^C = X^V,$
 for arbitrary $f, g \in \mathfrak{S}_0^0(M), X, Y \in \mathfrak{S}_0^1(M), \eta \in \mathfrak{S}_1^0(M),$
 $F \in \mathfrak{S}_1^1(M).$

2.3. Hsu-structure

Let M be an n -dimensional differentiable manifold of C^∞ class. If there exists a tensor field F of type $(1, 1)$ and of C^∞ class on M such that

$$(2.8) \quad F^2 = a^r I,$$

where I denotes the unit tensor field, r is an integer and a is a nonzero complex number. We say that the manifold M endowed with Hsu-structure [3].

2.4. Generalized almost r -contact structure

Let M be an n -dimensional differentiable manifold of C^∞ class. Suppose that there are given a tensor field F of type $(1, 1)$, a vector field ξ_p and a 1-form $\eta_p, p = 1, 2, \dots, r$ satisfying

$$(2.9) \quad F^2 = a^r I + \varepsilon \sum_{p=1}^r \xi_p \otimes \eta_p,$$

$$(2.10) \quad F\xi_p = 0,$$

$$(2.11) \quad \eta_p \circ F = 0,$$

$$(2.12) \quad \eta_p(\xi_q) = -\frac{a^r}{\varepsilon} \delta_{pq},$$

where $p, q = 1, 2, \dots, r$ and δ_{pq} denote the Kronecker delta while a and ε are nonzero complex numbers. The manifold M is called a *generalized almost r -contact manifold* and manifold with a generalized almost r -contact structure or in short with $(F, \eta_p, \xi_q, a, \varepsilon)$ -structure [1, 2, 8, 12].

3. Induced structure on the tangent bundle

Let us suppose that the base space M admits the generalized almost r -contact structure. Then there exists a tensor field F of type $(1, 1)$, $r(C^\infty)$ vector fields $\xi_1, \xi_2, \dots, \xi_p$ and $r(C^\infty)$ 1-forms $\eta_1, \eta_2, \dots, \eta_p$ such that equations from (2.9) to (2.11) are satisfied. Taking complete lifts of equations from (2.9) to (2.11), we obtain the following:

$$(3.1) \quad (F^C)^2 = a^r I + \varepsilon \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^C + \xi_p^C \otimes \eta_p^V\},$$

$$(3.2) \quad F^C \xi_p^V = 0, F^C \xi_p^C = 0,$$

$$(3.3) \quad \eta_p^V \circ F^C = 0, \eta_p^C \circ F^V = 0, \eta_p^C \circ F^C = 0, \eta_p^V \circ F^V = 0,$$

$$(3.4) \quad \eta_p^C(\xi_q^C) = \eta_p^V(\xi_q^V) = 0, \eta_p^C(\xi_q^V) = \eta_p^V(\xi_q^C) = -\frac{a^r}{\varepsilon} \delta_{pq}.$$

Let us define an element J of $J_1^1 T(M)$ by

$$(3.5) \quad J = F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}.$$

Then in the view of equations from (3.1) to (3.4), it is easily shown that $J^2 X^V = a^r X^V$ and $J^2 X^C = a^r X^C$, which give that J is Hsu-structure on $T(M)$. Hence we have the following theorem.

THEOREM 3.1. *Let M be a differentiable manifold endowed with the generalized almost r -contact structure $(F, \eta_p, \xi_q, a, \varepsilon)$. Then tensor field J defined by (3.5) gives a Hsu-structure on $T(M)$.*

Now in view of the equation (3.5), we have

$$(a) \quad JX^V = (FX)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{(\eta_p(X))^V \xi_p^C\},$$

$$(b) \quad JX^C = (FX)^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{(\eta_p(X))^V \xi_p^V + (\eta_p(X))^C \xi_p^C\}$$

for arbitrary $X, Y \in \mathfrak{S}_0^1(M)$.

In particular, we have

$$(a) \quad JX^V = (FX)^V, JX^C = (FX)^C,$$

$$(b) \quad J\xi_p^V = -\frac{a^{r/2}}{\varepsilon} \xi_p^C, J\xi_p^C = -\frac{a^{r/2}}{\varepsilon} \xi_p^V,$$

where X is an arbitrary vector field in M such that $\eta_p(X) = 0$.

4. Covariant derivatives with respect to complete and vertical lifts

Let M be an n -dimensional differentiable manifold. Differential transformation of algebra $T(M)$, defined by

$$(4.1) \quad D = \nabla_X : T(M) \rightarrow T(M), X \in \mathfrak{S}_0^1(M)$$

is called as covariant derivation with respect to vector field X if

$$(a) \quad \nabla_{fX+gY}t = f\nabla_Xt + g\nabla_Yt,$$

$$(b) \quad \nabla_Xf = Xf,$$

where arbitrary $f, g \in \mathfrak{S}_0^0(M)$, $X, Y \in \mathfrak{S}_0^1(M)$, $t \in \mathfrak{S}(M)$. On the other hand, a transformation defined by

$$(4.2) \quad \nabla : \mathfrak{S}_0^1(M) \times \mathfrak{S}_0^1(M) \longrightarrow \mathfrak{S}_0^1(M)$$

is called affine connection [6, 11].

Now we assume that M is a manifold with affine connection ∇ . Then there exist a unique affine connection ∇^C in $\mathfrak{S}(M)$ which satisfies

$$(4.3) \quad \nabla_{X^C}^C Y^C = (\nabla_X Y)^C$$

for any $X, Y \in \mathfrak{S}_0^1(M)$. This affine connection is called the complete lift of the affine connection ∇ to $T(M)$ and denoted by ∇^C [15].

PROPOSITION 4.1. For any $X \in \mathfrak{S}_0^1(M)$, $f \in \mathfrak{S}_0^0(M)$ and ∇^C is the complete lift of the affine connection ∇ to $T(M)$ [15].

- (a) $\nabla_{X^V}^C f^V = 0$,
- (b) $\nabla_{X^V}^C f^C = (\nabla_X f)^V$,
- (c) $\nabla_{X^C}^C f^V = (\nabla_X f)^V$,
- (d) $\nabla_{X^C}^C f^C = (\nabla_X f)^C$.

PROPOSITION 4.2. For any $X, Y \in \mathfrak{S}_0^1(M)$, $f \in \mathfrak{S}_0^0(M)$ and ∇^C is the complete lift of the affine connection ∇ to $T(M)$ [15].

- (a) $\nabla_{X^V}^C Y^V = 0$,
- (b) $\nabla_{X^V}^C Y^C = (\nabla_X Y)^V$,
- (c) $\nabla_{X^C}^C Y^V = (\nabla_X Y)^V$,
- (d) $\nabla_{X^C}^C Y^C = (\nabla_X Y)^C$.

THEOREM 4.3. For ∇_X the operator covariant derivation with respect to vector field X , $J \in \mathfrak{S}_1^1(\mathfrak{S}(M))$ defined by (3.5) and $\eta_p(Y) = 0$ we have

$$(4.4) \quad (\nabla_{X^V}^C J)Y^V = 0,$$

$$(4.5) \quad (\nabla_{X^V}^C J)Y^C = ((\nabla_X F)Y)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p)Y)^V \xi_p^C,$$

$$(4.6) \quad (\nabla_{X^C}^C J)Y^V = ((\nabla_X F)Y)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p)Y)^V \xi_p^C,$$

$$(4.7) \quad (\nabla_{X^C}^C J)Y^C = ((\nabla_X F)Y)^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_X Y)^V \xi_p^V \\ - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r (\eta_p (\nabla_X Y))^C \xi_p^C.$$

Proof. At first, we will show (4.4).

$$(\nabla_{X^V}^C J)Y^V = \nabla_{X^V}^C [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}]Y^V \\ - [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] \nabla_{X^V}^C Y^V$$

$$\begin{aligned}
&= (\nabla_{X^V}^C F^C Y^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^V}^C (\xi_p^V \otimes \eta_p^V) Y^V \\
&\quad + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^V}^C (\xi_p^C \otimes \eta_p^C) Y^V,
\end{aligned}$$

as $\nabla_{X^V}^C Y^V = 0$. Therefore

$$(\nabla_{X^V}^C J) Y^V = 0, \text{ as } \eta_p(Y) = 0, (\nabla_{X^V}^C ((\eta_p Y)^V) = 0.$$

Thus (4.4) is proved.

Second, we will show (4.5).

$$\begin{aligned}
(\nabla_{X^V}^C J) Y^C &= \nabla_{X^V}^C [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] Y^C \\
&\quad - [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] \nabla_{X^V}^C Y^C \\
&= (\nabla_{X^V}^C F^C Y^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^V}^C (\eta_p^V(Y)^C) \xi_p^V \\
&\quad + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^V}^C (\eta_p^C(Y)^C) \xi_p^C - F^C \nabla_{X^V}^C Y^C \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_{X^V}^C Y^C) \xi_p^V - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^C (\nabla_{X^V}^C Y^C) \xi_p^C.
\end{aligned}$$

Therefore

$$(\nabla_{X^V}^C J) Y^C = ((\nabla_X F) Y)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p) Y)^V \xi_p^C.$$

Thus (4.5) is proved.

Third, we will show (4.6).

$$\begin{aligned}
(\nabla_{X^C}^C J) Y^V &= \nabla_{X^C}^C [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] Y^V \\
&\quad - [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] \nabla_{X^C}^C Y^V
\end{aligned}$$

$$\begin{aligned}
&= (\nabla_{X^C}^C F^C Y^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^C}^C (\eta_p^V(Y)^V) \xi_p^V \\
&\quad + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^C}^C (\eta_p^C(Y)^V) \xi_p^C - F^C \nabla_{X^C}^C Y^V \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_{X^C}^C Y^V) \xi_p^V - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^C (\nabla_{X^C}^C Y^V) \xi_p^C \\
&= (\nabla_{X^C}^C F^C) Y^V + F^C (\nabla_{X^C}^C Y^V) - F^C \nabla_{X^C}^C Y^V \\
&\quad + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^C}^C (\eta_p(Y))^V \xi_p^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_{X^C}^C (\eta_p(Y))^V \xi_p^C \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_X Y)^V \xi_p^V - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p) Y)^V \xi_p^C.
\end{aligned}$$

Therefore

$$(\nabla_{X^V}^C J) Y^V = ((\nabla_X F) Y)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p) Y)^V \xi_p^C.$$

Thus (4.6) is proved.

Finally, we will show (4.6).

$$\begin{aligned}
(\nabla_{X^C}^C J) Y^C &= \nabla_{X^C}^C [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] Y^C \\
&\quad - [F^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \{\xi_p^V \otimes \eta_p^V + \xi_p^C \otimes \eta_p^C\}] \nabla_{X^C}^C Y^C \\
&= (\nabla_{X^C}^C F^C) Y^C + F^C (\nabla_{X^C}^C Y^C) - F^C \nabla_{X^C}^C Y^C \\
&\quad + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \nabla_X (\eta_p(Y))^V \xi_p^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p) Y)^C \xi_p^C \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_X Y)^V \xi_p^V - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r (\eta_p (\nabla_X Y))^C \xi_p^C.
\end{aligned}$$

Therefore

$$\begin{aligned}
(\nabla_{X^C}^C J)Y^C &= ((\nabla_X F)Y)^C + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r \eta_p^V (\nabla_X Y)^V \xi_p^V \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r (\eta_p (\nabla_X Y)^C \xi_p^C.
\end{aligned}$$

Thus (4.7) is proved. \square

COROLLARY 4.4. *If we put $Y = \xi_p$, that is, $\eta_p^C(\xi_q^C) = \eta_p^V(\xi_q^V) = 0$, then $\eta_p^C(\xi_q^V) = \eta_p^V(\xi_q^C) = -\frac{a^r}{\varepsilon} \delta_{pq}$ has condition (3.5), then we get different results such as*

$$\begin{aligned}
\text{(a)} \quad & (\nabla_{X^V}^C J)\xi_p^V = -a^{r/2} \sum_{p=1}^r (\nabla_X \xi_p)^V, \\
\text{(b)} \quad & (\nabla_{X^V}^C J)\xi_p^C = a^{r/2} ((\nabla_X F)\xi_p)^V, \\
\text{(c)} \quad & (\nabla_{X^C}^C J)\xi_p^V \\
&= ((\nabla_X F)\xi_p)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p)\xi_p)^V \xi_p^C - a^{r/2} \sum_{p=1}^r (\nabla_{X^C}^C \xi_p^C), \\
\text{(d)} \quad & (\nabla_{X^C}^C J)\xi_p^C = \\
& ((\nabla_X F)\xi_p)^C - a^{r/2} \sum_{p=1}^r (\nabla_X \xi_p)^V + \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p)\xi_p)^V \xi_p^V \\
&\quad - \frac{\varepsilon}{a^{r/2}} \sum_{p=1}^r ((\nabla_X \eta_p)\xi_p)^C \xi_p^C.
\end{aligned}$$

References

- [1] L. S. Das and M. N. I. Khan, *Almost r -contact structures on the tangent bundle*, Differential Geometry-Dynamical Systems, **7** (2005), 34-41.
- [2] L. S. Das and R. Nivas, *On certain structures defined on the tangent bundle*, Rocky Mountain Journal of Mathematics, **36** (2006), no. 6, 1857-1866.
- [3] L. S. Das, R. Nivas, and M. N. I. Khan, *On submanifolds of co-dimension 2 immersed in a Hsu-quaternion manifold*, Acta Mathematica Academiae Paedagogicae Nyiregyhaziensis, **25** (2009), no. 1, 129-135.
- [4] E. T. Davies, *On the curvature of the tangent bundle*, Annali di Mat. Pura ed Applicata, **81** (1969), no. 11, 193-204.
- [5] S. Ianus and C. Udriste, *On the tangent bundle of a differentiable manifold*, Stud. Cercet. Mat. **22** (1970), 599-61.
- [6] M. N. I. Khan, *Lifts of hypersurfaces with quarter-symmetric semi-metric connection to tangent bundles*, Afr. Mat. **25** (2014), no. 2, 475-482.
- [7] M. N. I. Khan, *Lift of semi-symmetric non-metric connection on a Kaehler Manifold*, Afr. Mat. **27** (2016), no. 3, 345-352.
- [8] M. N. I. Khan, *A note on certain structures in the tangent bundles*, Far East Journal of Sciences, **101**, (2017), no. 9, 1947-1965.

- [9] T. Omran, A. Sharffuddin, and S. I. Husain, *Lift of structures on manifold*, Publications De L'institut Mathematique (Beograd) (N.S.), **36** (1984), no. 50, 93-97.
- [10] A. Salimov, *Tensor operators and their applications*, Nova Science Publ. New York, 2013.
- [11] M. Tekkoyun, *On lifts of paracomplex structures*, Turk. J. Math. **30** (2006), 197-210.
- [12] J. Vanzura, *Almost r -contact structure*, Annali Della Scuola Normale, Superiore Di Pisa, **26** (1970), no. 1, 97-115.
- [13] K. Yano and S. Ishihara, *Almost complex structures induced in tangent bundles*, Kodai Math. Sem. Rep. **19** (1967), 1-27.
- [14] K. Yano and E. T. Davies, *Metrics and connections in tangent bundle*, Kodai Math. Sem. Rep. **23** (1971), no. 4, 493-504.
- [15] K. Yano and S. Ishihara, *Tangent and cotangent bundles*, Marcel Dekker, Inc. New York, 1973.

*

Department of Computer Engineering
College of Computer
Qassim University
Buraidah-51452, P. O. Box 6688, Saudi Arabia
E-mail: m.nazrul@qu.edu.sa

**

Department of Mathematics
College of Natural Science
Kookmin University
Seoul 02707, Republic of Korea
E-mail: jbjun@kookmin.ac.kr